MATH 1050-90
PRACTICE EXAM 2
(Sections 2.6, 3.1-3.5, 7.1-7.6)

The purpose of the practice exam is to give you an idea of the following:
* length of exam
* difficulty level of problems

Your actual exam will have different problems. You should review your homework, quizzes, notes etc.,
not just perfect taking the practice exam. However, you can use the practice exam to gauge how well
you know the material. To do this, take it under the same conditions as a normal exam (no notes, no
calculator, time yourself). Then score your problems against the solution key.

The following instructions are on the exam:

O Use a PENCIL, erase or cross out errors. If you use a pen, please use white out tape or neatly cross out work

you don't want graded.

O SHOW ALL WORK. No points will be given for answers without justification.
o NO CALCULATORS, NOTES, PHONES, ETC.

o Answers should be simplified (reduced).
o The value of each question is shown.

o Finish in 80 minutes (one hours + 20 minute grace period). You are responsible for keeping track of the time. The
proctor does not say “time is up”. For each minute you take beyond 80 min, your score will be reduced by 0.5%.
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This will appear on the exam!

Formulas:
y=Pe" and y=P(1+%)n

Remember log(a) means log in base 10, and In(a) means base e.




Math 1050-90, PRACTICE EXAM 2 SHOW ALL WORK!

1. Solve this problem by graphing, then by an algebraic method of your choice. ( 10 pts)

3
3x+2y=8 = \3=3X*"4 @
2x+y=3 =2 \6: -2x+3 [

Graph it: Circle solution Solve algebraically:
and write coordinates. @ Write the solution as an ordered pair.
7) pair, (a,b).

e -3xt+2(3-2x)=8

=2 xte—Yx =Y

N el

2. Find the points of intersection for the following set of simultaneous equations. State the answer
as ordered pairs, (a,b). (8 pts)

Solve Algebraically: (-3 ,L>
O y=x2+5x : /
©) y=-x2+3 Sm (.\2‘/ %
Sz —
2,.,3 =S Yt3
3= [ S )QL
.S 2 —) A ) (X
=) Y = R ) QZ(J’
s 5yx+3 = 2x +\OX
B /i) B "
B T L I
HHRTY | e-T W)
£y B =, or X7
S > )
£ x=-3, 4y=s(3)*t3
1

Score on Page



Math 1050-90, PRACTICE EXAM 2 SHOW ALL WORK!

3. Linear Programming: (10 pts)
a. Label the three lines on the graph with A, B, C to show which constraint they represent.
b. Shade the area represented by the three constraints.

Constraints:

A xt6y=6 2 %,?-'T‘,)LT‘
B: 2x+2y<I12 5 ., _

- 3 \3_ Xt
C: y55x+1

A od C 1/
@ | CO,l> | f\\

o we alse ©

O (et (3t se@é\%\ﬁ)

AKX Do = HH =
x‘_ -

c. List theC three vertex points.
B o~d -
@.6 = —x+b -X+o= 377)("'\ ( 7,‘4)
¢

x=2 = Y= Lt =\ Yz-tte=o

d. Test the objective equation z = y-3x for each of the vertex points and determine where the
maximum and minimum occur.

O(z4) z=430)=-*% X ak (o))
@(o)) 2=1-3): i k(52
S T
@ eo) 2=0-3)="18
4. Solve for x, stating exact answer in simplified form . (6 pts)
Show one step in the process.
a  log, 36=2 b, 2'=% c. log,64=x
2= Ve (3
X =3 Xz 2 27=Y =2
Z
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Math 1050-90, PRACTICE EXAM 2

SHOW ALL WORK!

5. Sketch both functions on the same graph (in different colors if you have them). Label the graphs

and show the asymptotes: (8 pts)

(shikk devan3)

a. f(x) = e* gx)=e -3 ¢

\r“c(ﬂ)

N

6. A substance is growing continuously. If
you start with 15 g and eight weeks later
you have 75 g, what is the rate of
growth? (State an exact answer.) (3

pts)
'_Pe(“c P?\ga—
- =23%
3 £=8e, 454
= ?
_ $&r
}S‘:Ib e
's's

S =4

skt Left 2
b. f(x) =In(x) g(x)=In (x+2) <

7. Simplify the left side of this equation to
a single log expression and solve for x:

(3 pts)

log(x-6) — log(2x+1) =0 X

Jﬁ?(vxﬂ) S

e—-—

\© = Z)d'\

| = x— L
Zxt\

Il

?

A (’?’-6) |
Mok (g g a«U"Q’V’
“IS /0S| (hosdadhioy
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Math 1050-90, PRACTICE EXAM 2 SHOW ALL WORK!

8. Perform the two stated row operations and then solve the system of equations. (10 pts)
x—2y+2z=9
—x+3y =4 R+R, = 1 23=13
2x—5y+z =10 U

; Dt B =0 e ’%“’3% —2
R tR, ! -y

X 13 =Y | ‘
‘ZLH/% +22=13
2L, 8! Aty -4 ¥ ijii’—t-;;——
+ ’ZX’S”% t=1° *2'—55/
- 2="
'3 3= =) %f’u—s)—lB
=) ~x43(23) =Y \3_;23

vt =y & k=S Ed X=CS
State the solution as an order triple: (x,y,z) (bs ) 13) = )

9. For each of these, determine if there are many solutions, no solutions or one unique solution
Show work for each. (6pts)

2x—y="7 , 6x—9y=2

4x =6
al(x+%y=—7> b3< —2x+3y =—% f;)_( 2xt—35=4)
et M YOOI L e I W i e

g

=+ 070
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Math 1050-90, PRACTICE EXAM 2 SHOW ALL WORK!

10. Find the partial fraction decomposition of the rational expression: (& pts)

x’+3x+8

x —4x C.
= YH3xtE _ _Z‘F“E?’d_g = i t - j2o
o) | xome

. C
A3 tY At + B (t2) *

(k2D Cat2) ) O(?/.)O&L) (%=2)
i3 = AGUR) +Bx U T

) (=)

=~
X=o, g peay = A= o =
w="2" HY-6 ex = (D) = b= & 9
x=27 Ye(+E=LL 5 g=¢8 2 57
5 e T -/ -
UASWWJ N X—) K"{’)—'

11. The graph of the function y = f{x) shown below is an exponential graph. The graphs of y = g(x)
and y = h(x) are translations of y = f{x). (& pts)

Lr0y=3 =d za D a=3

a. f(x)=a" Whatisa? k.

b. g(x)= SX{'L W‘a‘?’

c. What is the asymptote of g(x)?
(write as x=# or y=#)

Score on Page



Math 1050-90, PRACTICE EXAM 2 SHOW ALL WORK!

12. Answer the questions about the function and then sketch the graph. Show work to justify your

answer. (/6 pts)
Prxiogx | XOSH XL woemXed)
F+2x | x (etd) x (x<H+2)

f(x) =

Note: asymptotes should be given as lines, i.e. in the form y=# or x=#. Intercepts are points so should be given in the

form (a,b). Also, “none” is a possible answer)
a. x-coordinate(s) of hole(s): e. y-intercept

(o-)(=ot3) _ 2B) -
Cﬂa* a o 2\,:1QL
& _ -"M
a - T A v
ARAdL oV of + E;* Kyﬂw\ A VWLIANS

Mhév\\) T o{,ﬂf\:i’ Q/a /Umd"'w\'u

f. Graph the information from a-e and graph y = f(x).

b. vertical asymptote(s):

=) Label your axes.

Note: if when you graph the information, you realize something is

X—(—l E S ’\\M wrong, explain what you think is wrong and what a graph of a

Sfunction like this looks like.

(Sun

A kg s~ oy V-
dﬂw AR
D

__c. hori or obllque asymptote:
no HA Y
X—| 7 y+2

Y42 )7)(1'*’ x=b OHT%VJ.L
el B2 5 IS as
G

e ) ) '
d. x-intercept(s):

= (D) [ (2,00
(x+2) (-3°)
D = ()<t3)
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